
Installation Guide (Bolting to Welded Masonry Support)

IM
S
-P

: 7
.4

.1
3
  

Is
su

e:
 3

  
D

at
e:

 0
7
/0

4
/2

0
2
5

MANAGEMENT
SYSTEMS

113

CERTIFICATE 22/Q6326
ISO 9001



Introduction 

B.O.S.S. is a lightweight, stainless steel, 

prefabricated brick slip soffit system designed 

to be quickly and easily bolted to IG’s Welded 

Masonry Support (WMS) to create spectacular 

brick soffits. B.O.S.S. units can also be bolted 

to steel lintels (see alternative installation 

instructions for this method).

Channels and carrier units are manufactured 

from 304/304L Austenitic Stainless Steel 

(1.4301/1.4307) and 316/316L (1.4401/1.4404) 

on request. Units are bonded with Metofix 3:1 

adhesive. 

For any support required, contact our  

technical team support@igmss.co.uk

Installation tools and information required

igmasonrysupport.com

Torque Wrench

Spanner

PPE

Construction Issue Drawings

Stainless steel carrier unit

25mm brick slips

Stainless steel carrier unit

25mm brick slips Metofix adhesive

Stainless steel channel



Safety

While IG B.O.S.S. units are easy to handle the components are 

produced from sheared plates and may have sharp edges. 

Care must be taken when handling units and suitable workwear 

should be worn at all times.

When lifting or carrying a B.O.S.S. unit, you should undertake 

a personal risk assessment paying attention to the size and 

weight of the product which is clearly detailed on

each product label and pallet delivered. To avoid lifting strains 

and product damage, all units must be lifted by at least two 

people or alternatively by mechanical means. 

Do not use or install damaged B.O.S.S. units.

To achieve the design capacity of B.O.S.S., each unit must be installed in the correct manner.

Pre-installation check1
Storage

Unpointed brick slips are fragile therefore B.O.S.S. units must 

be stored correctly in a level and cordoned-off area so that 

they are visible. Care must be taken when unwrapping the 

delivered product. All goods must be opened and inspected 

immediately after delivery. Any irregularities must be reported 

in writing, within 5 days of delivery to IG Masonry Support.  

The manufacturer recommends that the goods onsite should 

be covered. This cover and protective wrapping should only 

be removed before installation.

Disposal

The B.O.S.S. units steel and brick components are fully 

recyclable, minimising waste and reducing its carbon footprint 

at the end of its service life. Thermal Shims should be safely 

disposed of in landfill.

B.O.S.S. requires IG’s Welded Masonry Support (WMS)

units to be installed across the opening first. Before 

installing B.O.S.S., ensure you have followed the relevant 

installation instructions for WMS which can be found at 

igmasonrysupport.com/resources/installation-guides/

B.O.S.S. units can then bolted to the underside of  

IG’s WMS. 

Note: It is recommended that B.O.S.S. units are  

pre-pointed on the ground before installing.

https://igmasonrysupport.com/resources/installation-guides/


igmasonrysupport.com

Insert spring nuts and alignReview Construction Issue Drawings 32

1340 4510 4510 525 335 4510 545

Brick Type:
Red Multi

Brick Type:
Red Multi

Brick Type:
Red Multi

3
33 3b

3b113b

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1 WMS1 WMS1 WMS1 WMS1WMS71MJ Requested

TH
-06

TH
-06

WMS79 WMS80

TH
-06

WMS79

TH
-06

WMS81 WMS60WMS60 WMS60 WMS61

3225251270
1010

335

3b

525 335

3b11

5251270
1010

335

3b

SB25SB25LINTELBU70 BU71SB25SB25SB20BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25SB25BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25

1340 4510 4510 525 335 4510 545

Brick Type:
Red Multi

Brick Type:
Red Multi

Brick Type:
Red Multi

3
33 3b

3b113b

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1 WMS1 WMS1 WMS1 WMS1WMS71MJ Requested

TH
-06

TH
-06

WMS79 WMS80

TH
-06

WMS79

TH
-06

WMS81 WMS60WMS60 WMS60 WMS61

3225251270
1010

335

3b

525 335

3b11

5251270
1010

335

3b

SB25SB25LINTELBU70 BU71SB25SB25SB20BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25SB25BU70 BU71

WMS1 WMS1 WMS1 WMS1

1340 4510 4510 525 335 4510 545

Brick Type:
Red Multi

Brick Type:
Red Multi

Brick Type:
Red Multi

3
33 3b

3b113b

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1 WMS1 WMS1 WMS1 WMS1WMS71MJ Requested

TH
-06

TH
-06

WMS79 WMS80

TH
-06

WMS79

TH
-06

WMS81 WMS60WMS60 WMS60 WMS61

3225251270
1010

335

3b

525 335

3b11

5251270
1010

335

3b

SB25SB25SB 20BU70 BU71SB25SB25SB20BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25SB25SB 20BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25

Section 3b

M12x60 Hex
Head Set Screw

75

8.3kN/m IG Masonry
Support System

20
0

2mm Thermal Shim

13
0

Top hat extender

KOP M12x100
Coach screw

40 +53.515 FIXING

13
0

125

+53.315 FIXING

+53.260

332.5

M12x60 Hex
Head Set Screw

75

65

Brick soffit
system

8.3kN/m IG Masonry
Support System

20
0

2mm Thermal Shim

13
0

Top hat extender

KOP M12x100
Coach screw

40

+53.185

+53.515 FIXING

13
0

125

Section 3

+53.260

+53.315 FIXING

332.5

102.5102.5 102.5
10

327.5

102.5
10

Section 10

M12x60 Hex
Head Set Screw

75

8.3kN/m IG Masonry
Support System

20
0

2mm Thermal Shim

13
0

Top hat extender

KOP M12x100
Coach screw

40 +53.515 FIXING

13
0

125

+53.315 FIXING

+53.260

332.5

Section 11

M12x60 Hex
Head Set Screw

8.3kN/m IG Masonry
Support System

2mm Thermal Shim

13
0

Top hat extender

KOP M12x100
Coach screw

125

+53.260

332.5

50
75

13
0

40
10

0

+53.290 FIXING

+53.390 FIXING

+53.465 FIXING

Drawing Reference TITLE REV DATE

Architect's DWG XXXXX-XXX-XX-00-XX-X-00-0000 - --/--/--

Engineer's DWG XXXXX-XXX-XX-00-XX-X-00-0000 - --/--/--

Construction Issue

CUSTOMER:

Dwg No.

PROJECT:

Drawing Title:

IG Masonry Support Systems
Ryder Close

Cadley Hill Industrial Estate
Swadlincote

DE11 9EU

Schedule: Rev:

Rev. Date Description
Status:

Engineer: Date:Drawn By: Scale:

CAUTION - COPYRIGHT
These drawings illustrate "Customized Components"

designed by IG Masonry Support Systems Ltd and are
protected under Copyright and Design Law. The

unauthorized use of these drawings or the production of
products detailed herein may result in legal action and

claim for consequential damages.

CRITICAL INFORMATION
-Cavity widths should not exceed +10mm from the
specified dimension
-Shim thickness should not exceed the diameter of the
bolt
-A minimum of 2mm shims must be installed with each
bracket
-Only use specified fixing bolts
-Bolt fixing height marked         never reduce this
dimension
-The bracket must have full contact with the support
structure and shim to maintain the loading zone
-Wall ties must be installed a maximum of 300mm above
the shelf angle
-Brick Joints - Brick units are designed to accomodate
flush and bucket handle joints. Any other joint types must
be notified during comment/approval process by client
-Section Details Sections have been designed to allow
for product approval. Any Non Structural elements around
slab edge must be advised by clients if a potential clash
may occur. IGMSS accepts no responsibility for clashes
with non-structural elements.
-Mortar joint widths will fluctuate from this drawing if the
bricks supplied to us are not as per the dimensions noted.
Please advise of any special requirements for your
project and how you'd like us to amend our drawings to
suit.
-Please refer to our terms and conditions by logging
onto http://igmasonrysupport.com/
-Bricks - All bricks provided by the client are deemed
suitable to bond to our units and no individual selection
of bricks will take place
-Be aware HD Bolt M12x60 require12mm holes only for
fixing

See below for Torque Settings
KOP M12x100 Coach Screw 46Nm
FBN II 12/20 R 35Nm
FAZ II 12/20 R 60Nm
RG M 12x120 R 40Nm
FHB II-A L 12X100 R 40Nm
HD BOLT M12x60 Must Be Installed Into 12mm Hole 30Nm
SET SCREW M12x60 73.5Nm
T-HEAD 38/17, 40/25, 49/30 M12x60 50Nm
SET SCREW M10 (BOSS UNITS)            31.5Nm

Please note the brick types & brick bond
set outs must be checked and signed off.
IGMSS are not responsible for the
co-ordination of the brick bonding.

Please advise any possible clashes
with CP board/Balcony stubs or any
other facade elements. IGMSS are
not responsible for the co-ordination
of any of these elements.

XXXX-XXX-XX-00-0000

1:40XXXX

-
-
-

-

OPP-000000 C01

23/05/23

WMS And Brick Unit Set Out 

First Issue23/05/23P01
Construction Issue04/07/23C01

xx/xx/xxxx

Use the Construction Issue 

Drawings provided by  

IG Masonry Support to install  

each B.O.S.S. unit in the  

correct location. 

Note: The reference number 

(example highlighted in this 

drawing) correlates to the same 

reference number shown on the 

printed label on each unit. 

B.O.S.S. unit 
bolted to IG’s 
WMS system

Insert spring nuts via the channel and align 

them to the centre of the slotted holes on  

the WMS system. 

Note: Two spring nuts should be used to 
support each B.O.S.S. unit, placed as close  
to the ends of the channel as possible. 



igmasonrysupport.com

Offer up B.O.S.S. unit4 Make adjustments as required and level5
Offer the B.O.S.S. unit up to  

WMS and insert bolt through the 

slotted hole on the horizontal 

shelf, picking up the prepositioned 

spring nut in channel. 

Simply tighten the bolts by 

hand for now to allow further 

adjustment.

Adjust the B.O.S.S. unit to the desired location. 

Horizontal adjustment Lateral adjustment

Horizontal adjustment can be achieved 

by utilising the channel on the B.O.S.S. 

unit and simply moving the unit from left 

to right. 

Lateral adjustment can be achieved by utilising 

the slotted hole on the WMS system. At this 

point, the nut should only be finger tight therefore 

adjustments can be made easily.  

Note: The dimension from the face of the brick to 

the toe of the shelf angle should not exceed 32mm.



igmasonrysupport.com

Torque bolts6 Locate and install neighbouring units7
Torque bolts to fix B.O.S.S. unit into position. Use the Construction Issue 

Drawings provided by  

IG Masonry Support to 

locate the neighbouring 

B.O.S.S. units. 

Note: The reference number 

(example highlighted in this 

drawing) correlates to the 

same reference number 

shown on the printed label 

on each unit. 

Install all neighbouring  

units following the same 

step-by-step installation 

process. 
1340 4510 4510 525 335 4510 545

Brick Type:
Red Multi

Brick Type:
Red Multi

Brick Type:
Red Multi

3
33 3b

3b113b

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1 WMS1 WMS1 WMS1 WMS1WMS71MJ Requested

TH
-06

TH
-06

WMS79 WMS80

TH
-06

WMS79

TH
-06

WMS81 WMS60WMS60 WMS60 WMS61

3225251270
1010

335

3b

525 335

3b11

5251270
1010

335

3b

SB25SB25LINTELBU70 BU71SB25SB25SB20BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25SB25BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25

1340 4510 4510 525 335 4510 545

Brick Type:
Red Multi

Brick Type:
Red Multi

Brick Type:
Red Multi

3
33 3b

3b113b

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1 WMS1 WMS1 WMS1 WMS1WMS71MJ Requested

TH
-06

TH
-06

WMS79 WMS80

TH
-06

WMS79

TH
-06

WMS81 WMS60WMS60 WMS60 WMS61

3225251270
1010

335

3b

525 335

3b11

5251270
1010

335

3b

SB25SB25LINTELBU70 BU71SB25SB25SB20BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25SB25BU70 BU71

WMS1 WMS1 WMS1 WMS1

1340 4510 4510 525 335 4510 545

Brick Type:
Red Multi

Brick Type:
Red Multi

Brick Type:
Red Multi

3
33 3b

3b113b

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

TH
-01

WMS1 WMS1 WMS1 WMS1 WMS1WMS71MJ Requested

TH
-06

TH
-06

WMS79 WMS80

TH
-06

WMS79

TH
-06

WMS81 WMS60WMS60 WMS60 WMS61

3225251270
1010

335

3b

525 335

3b11

5251270
1010

335

3b

SB25SB25SB 20BU70 BU71SB25SB25SB20BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25SB25SB 20BU70 BU71

WMS1 WMS1 WMS1 WMS1

SB25

Section 3b

M12x60 Hex
Head Set Screw

75

8.3kN/m IG Masonry
Support System

20
0

2mm Thermal Shim

13
0

Top hat extender

KOP M12x100
Coach screw

40 +53.515 FIXING

13
0

125

+53.315 FIXING

+53.260

332.5

M12x60 Hex
Head Set Screw

75

65

Brick soffit
system

8.3kN/m IG Masonry
Support System

20
0

2mm Thermal Shim

13
0

Top hat extender

KOP M12x100
Coach screw

40

+53.185

+53.515 FIXING

13
0

125

Section 3

+53.260

+53.315 FIXING

332.5

102.5102.5 102.5
10

327.5

102.5
10

Section 10

M12x60 Hex
Head Set Screw

75

8.3kN/m IG Masonry
Support System

20
0

2mm Thermal Shim

13
0

Top hat extender

KOP M12x100
Coach screw

40 +53.515 FIXING

13
0

125

+53.315 FIXING

+53.260

332.5

Section 11

M12x60 Hex
Head Set Screw

8.3kN/m IG Masonry
Support System

2mm Thermal Shim

13
0

Top hat extender

KOP M12x100
Coach screw

125

+53.260

332.5

50
75

13
0

40
10

0

+53.290 FIXING

+53.390 FIXING

+53.465 FIXING

Drawing Reference TITLE REV DATE

Architect's DWG XXXXX-XXX-XX-00-XX-X-00-0000 - --/--/--

Engineer's DWG XXXXX-XXX-XX-00-XX-X-00-0000 - --/--/--

Construction Issue

CUSTOMER:

Dwg No.

PROJECT:

Drawing Title:

IG Masonry Support Systems
Ryder Close

Cadley Hill Industrial Estate
Swadlincote

DE11 9EU

Schedule: Rev:

Rev. Date Description
Status:

Engineer: Date:Drawn By: Scale:

CAUTION - COPYRIGHT
These drawings illustrate "Customized Components"

designed by IG Masonry Support Systems Ltd and are
protected under Copyright and Design Law. The

unauthorized use of these drawings or the production of
products detailed herein may result in legal action and

claim for consequential damages.

CRITICAL INFORMATION
-Cavity widths should not exceed +10mm from the
specified dimension
-Shim thickness should not exceed the diameter of the
bolt
-A minimum of 2mm shims must be installed with each
bracket
-Only use specified fixing bolts
-Bolt fixing height marked         never reduce this
dimension
-The bracket must have full contact with the support
structure and shim to maintain the loading zone
-Wall ties must be installed a maximum of 300mm above
the shelf angle
-Brick Joints - Brick units are designed to accomodate
flush and bucket handle joints. Any other joint types must
be notified during comment/approval process by client
-Section Details Sections have been designed to allow
for product approval. Any Non Structural elements around
slab edge must be advised by clients if a potential clash
may occur. IGMSS accepts no responsibility for clashes
with non-structural elements.
-Mortar joint widths will fluctuate from this drawing if the
bricks supplied to us are not as per the dimensions noted.
Please advise of any special requirements for your
project and how you'd like us to amend our drawings to
suit.
-Please refer to our terms and conditions by logging
onto http://igmasonrysupport.com/
-Bricks - All bricks provided by the client are deemed
suitable to bond to our units and no individual selection
of bricks will take place
-Be aware HD Bolt M12x60 require12mm holes only for
fixing

See below for Torque Settings
KOP M12x100 Coach Screw 46Nm
FBN II 12/20 R 35Nm
FAZ II 12/20 R 60Nm
RG M 12x120 R 40Nm
FHB II-A L 12X100 R 40Nm
HD BOLT M12x60 Must Be Installed Into 12mm Hole 30Nm
SET SCREW M12x60 73.5Nm
T-HEAD 38/17, 40/25, 49/30 M12x60 50Nm
SET SCREW M10 (BOSS UNITS)            31.5Nm

Please note the brick types & brick bond
set outs must be checked and signed off.
IGMSS are not responsible for the
co-ordination of the brick bonding.

Please advise any possible clashes
with CP board/Balcony stubs or any
other facade elements. IGMSS are
not responsible for the co-ordination
of any of these elements.

XXXX-XXX-XX-00-0000

1:40XXXX

-
-
-

-

OPP-000000 C01

23/05/23

WMS And Brick Unit Set Out 

First Issue23/05/23P01
Construction Issue04/07/23C01

xx/xx/xxxx



igmasonrysupport.com

Continue higher-level brickwork8
Position compressible filler to 

underside of horizontal support 

shelf. Maintain a 2mm space 

above the filler and install pistol 

bricks above masonry support 

shelf.

Build a maximum of 1.5m of 

brickwork on the shelf until 

the mortar has cured (1-2 

days dependent on weather 

conditions) before continuing 

with further brickwork. 

This concludes the installation 

of B.O.S.S. Continuation of 

higher-level brickwork can 

commence.

The IG Masonry Support technical team 

are on hand to provide support when 

installing B.O.S.S. To receive support, 

please call +44 (0)1283 200 157 or 

email support@igmss.co.uk

Additional installation materials

For a video Installation Guide, please visit 

igmasonrysupport.com or scan the QR code. 

Alternatively please refer to the supporting 

documentation supplied with this guide.



igmasonrysupport.com

Great Britain

Cadley Hill Industrial Estate

Ryder Close, Swadlincote

South Derbyshire, DE11 9EU

—

T +44 (0)1283 200 157

support@igmasonrysupport.com

Ireland

Ballyreagh Industrial Estate 

Sandholes Road, Cookstown

County Tyrone, BT80 9DG

—

T +44 (0)28 8676 0334

info@igmasonrysupport.com


